Chapter 16

Distributions to Shareholders:

Dividends and Repurchases

ANSWERS TO BEGINNING-OF-CHAPTER QUESTIONS
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Investors who prefer a high payout policy would generally (a) need current cash income and (b) be in a low income tax bracket.  Those who prefer a low payout would not need cash currently and would be in a high tax bracket.  Universities and other tax-exempt institutions, and many retirees, are examples of those who prefer cash dividends, while people in their peak earning years often prefer low payouts.



If someone holds a low payout stock and wants more cash income, he or she can sell the stock and buy a high payout stock, but that would result in brokerage costs and possibly capital gains taxes.  



If you owned a high payout stock and wanted less dividends, you could (1) sell out and switch to a low dividend stock, (2) try to get the company to lower its payout (while possibly starting a stock repurchase program), or (3) join a dividend reinvestment plan.  Selling would involve brokerage costs and possibly capital gains taxes.  The dividend reinvestment plan would avoid brokerage fees, but you would have to pay taxes currently even if you reinvest the dividends.  You would have a good chance of getting the company to follow your advice under Point 2 if your name were Warren Buffett.
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Here are the three theories, which are illustrated in the BOC model.  They should be thought of as applying to investors in the aggregate and not to each individual investor, because, obviously, different individuals will certainly have different preferences.



MM Indifference.  Investors in the aggregate don’t care.  Those who like dividends are offset by those who do not want them. 



Bird in hand, or dividend preference.  Most investors prefer cash dividends to retained earnings and possible future growth.



Tax preference, or dividend dislike.   Most investors prefer to have companies retain and reinvest earnings in order to generate earning growth and capital gains.



MM Indifference.  MM argue that argue that only a stock’s earnings and business risk determine its price.  Suppose stocks H and L have the same risk and the same earnings, but H pays more of its earnings out as dividends and has the higher price.  MM argue that investors could sell H and buy L.  L’s share price should rise faster than H’s because it is plowing back more of its earnings.  L’s investors who want more dividends could sell enough of their shares to make up for the dividend shortfall.  They prove that this would result in higher cash flows.  They then argue that arbitrage would occur until H and L sold at the same price. 



Had L’s stock had the higher price, then its holders who did not want dividends could sell it, buy H, and then use the excess dividends to buy more of H’s stock.



MM’s argument assumes that there are no transactions costs involved in stock transactions.  They also assume no taxes.  The existence of differential taxes on dividends versus capital gains, and transactions costs, make perfect arbitrage impossible, and in this situation an individual investor could prefer one type stock or the other.  Then, if there are more of the investors who prefer either high or low payouts, the indifference theory will not be true in the aggregate.



Bird in the Hand.  There’s an old proverb that says “a bird in the hand is worth two in the bush.” Myron Gordon, who developed the Discounted Dividend Model, argued that investors think a dividend in the hand is less risky than a potential capital gain in the bush.  This leads to the conclusion that rs falls as the payout ratio is increased.  MM criticized Gordon and called his position “the bird in the hand fallacy.”  MM argued that most investors take dividends and then reinvest them in the stock of the same or similar companies, which exposes them to the same risk as if the companies had simply kept the dividends and invested the proceeds without passing them through investors’ hands.



Tax Preference.  Others have argued that lower taxes on capital gains cause the majority of investors to prefer retention and capital gains to higher dividends and higher taxes.



Empirical tests have tried to relate stock prices or P/E ratios to dividend payout.  If we could find a sample of companies that varied only with respect to their payout policies, then we could plot P/E’s and prices against payout, and if the pattern that emerged was like one of those shown in the following graphs, then this would support one of the theories.  However, it is impossible to find companies that vary only in their payouts.




Things other than payout are simply never held constant.  In particular expected growth rates vary across companies, so a high price could be associated with a high expected growth rate, not necessarily a high payout ratio.  Also, we can’t measure either rs or expected g precisely.  So, the tests have not been conclusive.



Note too that if different firms cater to different clienteles, and if the clienteles are all happy, then different companies might have different payouts but similar prices and P/E ratios, which would confuse the empirical tests.
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Historically, companies have been reluctant to cut their dividends--they don’t cut dividends unless things really look horrible to management.  Moreover, investors know about management’s reluctance to cut dividends.  Therefore, if a firm cuts its dividends, investors take this as a negative signal—a sign that the firm is in grave danger--and the stock tanks.  As a result, firms are reluctant to raise their dividend unless they are confident that future earnings and cash flows will be strong enough to support the higher dividend rate, hence that the company won’t be forced to cut the dividend.  Therefore, an increase in the dividend is taken as a signal that management is optimistic about the future.



Prior to MM, people saw that stocks tend to rise when dividends are increased and to fall when dividends are cut.  This led to a belief that investors preferred a high payout.  For example, in their classic investments text, Graham and Dodd stated that investors valued a dollar of dividends as much as three dollars of retained earnings.  All this was used to refute MM’s indifference theory.  However, MM argued that the apparent preference for dividends was really just the effects of signaling, hence not valid evidence that refuted their indifference hypothesis.



The clientele effect means that a firm, through its dividend policy, attracts a set of investors who wants the particular policy the firm follows.  For example, if a firm follows a policy of paying out most of its earnings as dividends, it will attract a clientele of investors who are in low tax brackets and who desire high current cash income rather than future capital gains.  A company with a low payout policy would attract high tax bracket investors who wanted to save rather than spend currently their corporate income.  



MM argued that firms can change dividend policies, and investors who dislike the new policy can switch stocks to some other company with their favorite payout policy.  But MM assume away the transaction costs and capital gains taxes that would be incurred as a result of the switch.  MM also assume that in the aggregate there is a perfect match between companies’ policies and investors desires, so if a company changed policies and thus drove off some of its existing stockholders, there would be exactly enough investors who desired the new policy to replace the departing stockholders.  However, taxes and transactions costs do exist, and there may be a shortage of replacement investors, so it is possible that a company’s stock price might be higher under one dividend policy than another.



Signaling and clientele effects make empirical tests more difficult—they make it harder to sort out whether investors in the aggregate prefer dividends or retention.  Note too that different investors are likely to prefer different policies.  Therefore, if a firm changes its policy, some will like it while others will dislike it, and it may look like investors are indifferent when they really care, but in opposite directions.  Of course, if this exact offset occurred, then this would be consistent with MM’s views about aggregate investor preferences.



In addition, stockholders like the relative certainty that comes from a stable policy—investors like to know how much dividends will be coming on a specific date because that facilitates planning and reduces uncertainty.  For this reason, plus the fact that it’s costly for investors to switch companies if a given company changes its dividend policy, a company should maintain a stable policy unless it has a truly compelling reason for making a change.  Moreover, if a change is to be made, the company should make the reasons for the change quite clear to investors so as to avoid sending a false signal, and they should make the change fairly gradually in order to help investors through the move.
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Residual implies left over, and the residual dividend policy implies that dividends are paid only after the company has used all necessary earnings to finance its capital budget. Note in the following graph that the firm has a cost of capital schedule and an investment opportunity schedule, and the optimal capital budget is found at the intersection of those two curves,  at $*.  Multiply $* times the optimal equity ratio to get the required equity (with the balance being new debt).  Then subtract the required new equity from the dollars of net income, and the result, if positive, is the dividends to be paid out under the residual policy.




The dividends as thus determined would vary from year to year as the IOS and MCC curves shift, and as net income varies.  That would lead to fluctuating dividends, which would not be good.  Therefore, in practice the residual model is used, with “normalized” data for say the next 5 years, to find a target payout ratio.  Then, the dividend that comes from that target payout is paid and maintained (with perhaps a bit of growth) even though things fluctuate over the next few years.



Of course, the situation would be reexamined periodically, and a new target payout might be set.  If a new payout were indicated, the company would probably move toward it gradually so as not to send confusing signals or upset the existing stockholder clientele.



A numerical example of the Residual Dividend Policy is provided in the BOC model.
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The last decade has witnessed a major shift toward using share repurchases in lieu of cash dividends to distribute cash to investors.  If a firm has a clientele of mainly high tax bracket stockholders who do not want cash income, this would suggest that repurchases would be a good way to dispose of surplus cash flow.  On the other hand, if most of its stockholders wanted cash income and were non-taxed institutions and/or low tax bracket individuals, then cash dividends might be preferred.



The stability of income and cash flows, as well as the stability of investment opportunities, would also affect the repurchase vs. cash dividend decision.  If there is great stability, then the company can pay a stable, predictable dividend without adverse effects on the company’s capital budgeting program, so that would suggest cash dividends rather than repurchases.  On the other hand, if earnings and investment opportunities are unstable, this would suggest a policy of low regular dividends (a low payout ratio) together with a repurchase program under which a lot of shares are repurchased when there is excess cash and no repurchases when cash needs are great.



Repurchases are most advantageous when there is a wide differential between the tax rate on ordinary income (including dividends) and capital gains.  In 2000, the top tax rate on dividends was 39.6% versus 20% on most capital gains.  In 2001, the tax laws were changed, and the top rate on dividends is scheduled to decline to 35%, with no change in the rate on capital gains.  That change will make repurchases less advantageous.  If the rate on ordinary income had been held constant and the rate on capital gains lowered, as happened in 1997, this would have made repurchases more attractive.
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In a stock split, shareholders receive additional shares at no cost.  For example, in a 2 for 1 split, each stockholder would receive the same number of new shares as he or she currently holds.  Thus, someone who has 100 shares would receive another 100 shares, ending up with two shares for every share previously held.  



In theory, the 200 new shares should have the same value as the 100 old shares, because the split in and of itself has not added assets or earnings.  However, companies generally split their stock when things look good, so a stock split announcement is often taken as a positive signal, and it results in a price increase.  Therefore, you should be happy if your company announces a stock split.
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As we write this, the prospects for a war with Iraq and ballooning federal deficits make it unlikely that the tax on dividends will be eliminated.  However, if it were to pass, it would make stocks more attractive to investors, so the pre-tax required return on stocks (rs) would decline relative to the required return on debt (rd).  That would lead to a shift in capital structures toward a higher percentage of equity.  It would also decrease stock repurchases, because the high tax on dividends that makes it tax-efficient to return capital to stockholders would be removed.  Obviously, dividend payout ratios would increase.  Finally, the tax preference theory would vanish, and the bird-in-the-hand theory would be reinforced vis-à-vis the MM indifference theory.  The bird-in-the-hand theory would probably be the winner, and that would reinforce the tendency to raise corporate payouts.

ANSWERS TO END-OF-CHAPTER QUESTIONS
16-1
a.
The optimal dividend policy is the dividend policy that strikes a balance between current dividends and future growth and maximizes the firm’s stock price.

b.
The dividend irrelevance theory holds that dividend policy has no effect on either the price of a firm’s stock or its cost of capital. The principal proponents of this view are Merton Miller and Franco Modigliani (MM).  They prove their position in a theoretical sense, but only under strict assumptions, some of which are clearly not true in the real world.  The “bird-in-the-hand” theory assumes that investors value a dollar of dividends more highly than a dollar of expected capital gains because the dividend yield component, D1/P0, is less risky than the g component in the total expected return equation rS = D1/P0 + g.  The tax preference theory proposes that investors prefer capital gains over dividends, because capital gains taxes can be deferred into the future, but taxes on dividends must be paid as the dividends are received.

c.
The information content of dividends is a theory which holds that investors regard dividend changes as “signals” of management forecasts. 



Thus, when dividends are raised, this is viewed by investors as recognition by management of future earnings increases. Therefore, if a firm’s stock price increases with a dividend increase, the reason may not be investor preference for dividends, but expectations of higher future earnings.  Conversely, a dividend reduction may signal that management is forecasting poor earnings in the future.  The clientele effect is the attraction of companies with specific dividend policies to those investors whose needs are best served by those policies.  Thus, companies with high dividends will have a clientele of investors with low marginal tax rates and strong desires for current income.  Similarly, companies with low dividends will attract a clientele with little need for current income, and who often have high marginal tax rates.

d.
The residual dividend model states that firms should pay dividends only when more earnings are available than needed to support the optimal capital budget.  An extra dividend is a dividend paid, in addition to the regular dividend, when earnings permit.  Firms with volatile earnings may have a low regular dividend that can be maintained even in low-profit (or high capital investment) years, and then supplement it with an extra dividend when excess funds are available.

e.
The declaration date is the date on which a firm’s directors issue a statement declaring a dividend.  If a company lists the stockholder as an owner on the holder-of-record date, then the stockholder receives the dividend.  The ex-dividend date is the date when the right to the dividend leaves the stock.  This date was established by stockbrokers to avoid confusion and is 2 business days prior to the holder of record date.  If the stock sale is made prior to the ex-dividend date, the dividend is paid to the buyer.  If the stock is bought on or after the ex-dividend date, the dividend is paid to the seller.  The date on which a firm actually mails dividend checks is known as the payment date.

f.
Dividend reinvestment plans allow stockholders to automatically purchase shares of common stock of the paying corporation in lieu of receiving cash dividends.  There are two types of plans--one involves only stock that is already outstanding, while the other involves newly issued stock.  In the first type, the dividends of all participants are pooled and the stock is purchased on the open market.  Participants benefit from lower transaction costs.  In the second type, the company issues new shares to the participants.  Thus, the company issues stock in lieu of the cash dividend.

g.
In a stock split, current shareholders are given some number (or fraction) of shares for each stock owned.  Thus, in a 3-for-1 split, each shareholder would receive 3 new shares in exchange for each old share, thereby tripling the number of shares outstanding.  Stock splits usually occur when the stock price is outside of the optimal trading range.  Stock dividends also increase the number of shares outstanding, but at a slower rate than splits.  In a stock dividend, current shareholders receive additional shares on some proportional basis. Thus, a holder of 100 shares would receive 5 additional shares at no cost if a 5 percent stock dividend were declared.  Stock repurchases occur when a firm repurchases its own stock.  These shares of stock are then referred to as treasury stock.  The higher EPS on the now decreased number of shares outstanding will cause the price of the stock to rise and thus capital gains are substituted for cash dividends.
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a.
From the stockholders’ point of view, an increase in the personal income tax rate would make it more desirable for a firm to retain and reinvest earnings.  Consequently, an increase in personal tax rates should lower the aggregate payout ratio.

b.
If the depreciation allowances were raised, cash flows would increase. With higher cash flows, payout ratios would tend to increase.  On the other hand, the change in tax-allowed depreciation charges would increase rates of return on investment, other things being equal, and this might stimulate investment, and consequently reduce payout ratios. On balance, it is likely that aggregate payout ratios would rise, and this has in fact been the case.

c.
If interest rates were to increase, the increase would make retained earnings a relatively attractive way of financing new investment. Consequently, the payout ratio might be expected to decline.  On the other hand, higher interest rates would cause rd, rs, and firm’s MCCs to rise--that would mean that fewer projects would qualify for capital budgeting and the residual would increase (other things constant), hence the payout ratio might increase.

d.
A permanent increase in profits would probably lead to an increase in dividends, but not necessarily to an increase in the payout ratio.  If the aggregate profit increase were a cyclical increase that could be expected to be followed by a decline, then the payout ratio might fall, because firms do not generally raise dividends in response to a short-run profit increase.

e.
If investment opportunities for firms declined while cash inflows remained relatively constant, an increase would be expected in the payout ratio.

f.
Dividends are currently paid out of after-tax dollars, and interest charges from before-tax dollars.  Permission for firms to deduct dividends as they do interest charges would make dividends less costly to pay than before and would thus tend to increase the payout ratio.

g.
This change would make capital gains less attractive and would lead to an increase in the payout ratio.

16-3
The biggest advantage of having an announced dividend policy is that it would reduce investor uncertainty, and reductions in uncertainty are generally associated with lower capital costs and higher stock prices, other things being equal.  The disadvantage is that such a policy might decrease corporate flexibility.  However, the announced policy would possibly include elements of flexibility.  On balance, it would appear desirable for directors to announce their policies.
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The difference is largely one of accounting.  In the case of a split, the firm simply increases the number of shares and simultaneously reduces the par or stated value per share.  In the case of a stock dividend, there must be a transfer from retained earnings to capital stock.  For most firms, a 100 percent stock dividend and a 2-for-1 split accomplish exactly the same thing; hence, investors may choose either one.

16-5
Logic suggests that stockholders like stable dividends--many of them depend on dividend income, and if dividends were cut, this might cause serious hardship.  If a firm’s earnings are temporarily depressed or if it needs a substantial amount of funds for investment, then it might well maintain its regular dividend, using borrowed funds to tide it over until things returned to normal.  Of course, this could not be done on a sustained basis--it would be appropriate only on relatively rare occasions.
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It is true that executives’ salaries are more highly correlated with the size of the firm than with profitability.  This being the case, it might be in management’s own best interest (assuming that management does not have a substantial ownership position in the firm) to see the size of the firm increase whether or not this is optimal from the stockholders’ point of view.  The larger the investment during any given year, the larger the firm will become.  Accordingly, a firm whose management is interested in maximizing the size of the firm rather than the value of the existing common stock might push investments down below the cost of capital.  In other words, management might invest to a point where the marginal return on new investment is less than the cost of capital.

If the firm does invest to a point where the return on investment is less than the cost of capital, the stock price must fall below what it otherwise would have been.  Stockholders would be given additional benefits from the higher retained earnings, and this might well push up the stock price, but the increase in stock price would be less than the value of dividends received if the company had paid out a larger percentage of its earnings.
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a.
The residual dividend policy is based on the premise that, since new common stock is more costly than retained earnings, a firm should use all the retained earnings it can to satisfy its common equity requirement.  Thus, the dividend payout under this policy is a function of the firm’s investment opportunities.

b.
Yes.  A more shallow plot implies that changes from the optimal capital structure have little effect on the firm’s cost of capital, hence value.  In this situation, dividend policy is less critical than if the plot were V-shaped.
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a.
True.  When investors sell their stock they are subject to capital gains taxes.

b.
True.  If a company’s stock splits 2 for 1, and you own 100 shares, then after the split you will own 200 shares.

c.
True.  Dividend reinvestment plans that involve newly issued stock will increase the amount of equity capital available to the firm.

d.
False.  The tax code, through the tax deductibility of interest, encourages firms to use debt and thus pay interest to investors rather than dividends, which are not tax deductible.  In addition, due to a lower capital gains tax rate than the highest personal tax rate, the tax code encourages investors in high tax brackets to prefer firms who retain earnings rather than those that pay large dividends.

e.
True.  If a company’s clientele prefers large dividends, the firm is unlikely to adopt a residual dividend policy.  A residual dividend policy could mean low or zero dividends in some years which would upset the company’s developed clientele.

f.
False.  If a firm follows a residual dividend policy, all else constant, its dividend payout will tend to decline whenever the firm’s investment opportunities improve.

SOLUTIONS TO END-OF-CHAPTER PROBLEMS
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70% Debt; 30% Equity; Capital Budget = $3,000,000; NI = $2,000,000; 


PO = ?

Equity retained = 0.3($3,000,000) = $900,000.

 NI  



$2,000,000

-Additions  

   900,000
 Earnings Remaining
$1,100,000
Payout = 
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P0 = $90; Split = 3 for 2; New P0 = ?

P0 New = 
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Retained earnings = Net income (1 - Payout ratio)

                  = $5,000,000(0.55) = $2,750,000.

External equity needed:

Total equity required = (New investment)(1 - Debt ratio)

                      = $10,000,000(0.60) = $6,000,000.

New external equity needed = $6,000,000 - $2,750,000 = $3,250,000.
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The company requires 0.40($1,200,000) = $480,000 of equity financing.  If the company follows a residual dividend policy it will retain $480,000 for its capital budget and pay out the $120,000 “residual” to its shareholders as a dividend.  The payout ratio would therefore be $120,000/$600,000 = 0.20 = 20%.

16-5  Equity financing = $12,000,000(0.60) = $7,200,000.

Dividends = Net income - Equity financing

          = $15,000,000 - $7,200,000 = $7,800,000.

Dividend payout ratio = Dividends/Net income 

                      = $7,800,000/$15,000,000 = 52%.
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DPS after split = $0.75.

Equivalent pre-split dividend = $0.75(5) = $3.75.

New equivalent dividend = Last year’s dividend(1.09)

                  $3.75 = Last year’s dividend(1.09)

   Last year’s dividend = $3.75/1.09 = $3.44.
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Capital budget should be $10 million.  We know that 50% of the $10 million should be equity.  Therefore, the company should pay dividends of:



   Dividends
= Net income - needed equity




= $7,287,500 - $5,000,000 = $2,287,500.



Payout ratio
= $2,287,500/$7,287,500 = 0.3139 = 31.39%.
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a.
1.
2004 Dividends = (1.10)(2003 Dividends)

               = (1.10)($3,600,000) = $3,960,000.

2.
2003 Payout = $3,600,000/$10,800,000 = 0.33 = 33%.

2004 Dividends = (0.33)(2004 Net income)

               = (0.33)($14,400,000) = $4,800,000.

(Note:  If the payout ratio is rounded off to 33%, 2004 dividends are then calculated as $4,752,000.)

3.
Equity financing = $8,400,000(0.60) = $5,040,000.

2004 Dividends = Net income - Equity financing

               = $14,400,000 - $5,040,000 = $9,360,000.

All of the equity financing is done with retained earnings as long as they are available.

4.
The regular dividends would be 10% above the 2003 dividends:

Regular dividends = (1.10)($3,600,000) = $3,960,000.

The residual policy calls for dividends of $9,360,000.  Therefore, the extra dividend, which would be stated as such, would be

Extra dividend = $9,360,000 - $3,960,000 = $5,400,000.

An even better use of the surplus funds might be a stock repurchase.

b.
Policy 4, based on the regular dividend with an extra, seems most logical.  Implemented properly, it would lead to the correct capital budget and the correct financing of that budget, and it would give correct signals to investors.
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a.
Capital Budget = $10,000,000; Capital structure = 60% equity, 40% debt.

Retained Earnings Needed = $10,000,000 (0.6) = $6,000,000.

b.
According to the residual dividend model, only $2 million is available for dividends.

NI - Retained earnings needed for cap. projects = Residual dividend.

$8,000,000 - $6,000,000 = $2,000,000.

DPS = $2,000,000/1,000,000 = $2.00.

Payout ratio = $2,000,000/$8,000,000 = 25%.

c.
Retained Earnings Available = $8,000,000 - $3.00 (1,000,000)

Retained Earnings Available = $8,000,000 - $3,000,000

Retained Earnings Available = $5,000,000.

d.
No.  If the company maintains its $3.00 DPS, only $5 million of retained earnings will be available for capital projects.  However, if the firm is to maintain its current capital structure, $6 million of equity is required.  This would necessitate the company having to issue $1 million of new common stock.

e.
Capital Budget = $10 million; Dividends = $3 million; NI = $8 million.

Capital Structure = ?

RE Available = $8,000,000 - $3,000,000

             = $5,000,000.

Percentage of Cap. Budget Financed with RE = 
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Percentage of Cap. Budget Financed with Debt = 
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f.
Dividends = $3 million; Capital Budget = $10 million; 60% equity, 40% debt; NI = $8 million.

Equity Needed = $10,000,000(0.6) = $6,000,000.

RE Available = $8,000,000 - $3.00(1,000,000)

             = $8,000,000 - $3,000,000

             = $5,000,000.

External (New) Equity Needed = $6,000,000 - $5,000,000

                             = $1,000,000.

g.
Dividends = $3 million; NI = $8 million; Capital structure = 60% equity, 40% debt.

RE Available = $8,000,000 - $3,000,000

             = $5,000,000.

We’re forcing the RE Available = Required Equity to find the new capital budget.

Required Equity = Capital Budget (Target Equity Ratio)

  $5,000,000 = Capital Budget(0.6)

 Capital Budget = $8,333,333.

Therefore, if Buena Terra cuts its capital budget from $10 million to $8.33 million, it can maintain its $3.00 DPS, its current capital structure, and still follow the residual dividend policy.

h.
The firm can do one of four things:

(1) Cut dividends.

(2) Change capital structure, that is, use more debt.

(3) Cut its capital budget.

(4) Issue new common stock.

Realize that each of these actions is not without consequences to the company’s cost of capital, stock price, or both.
SPREADSHEET PROBLEM
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The detailed solution for the problem is available both on the instructor’s resource CD-ROM (in the file Solution for Ch 16 P10 Build a Model.xls) and on the instructor’s side of the web site, http://brigham.swcollege.com.

MINI CASE

SOUTHEASTERN STEEL COMPANY (SSC) WAS FORMED 5 YEARS AGO TO EXPLOIT A NEW CONTINUOUS-CASTING PROCESS.  SSC’S FOUNDERS, DONALD BROWN AND MARGO VALENCIA, HAD BEEN EMPLOYED IN THE RESEARCH DEPARTMENT OF A MAJOR INTEGRATED-STEEL COMPANY, BUT WHEN THAT COMPANY DECIDED AGAINST USING THE NEW PROCESS (WHICH BROWN AND VALENCIA HAD DEVELOPED), THEY DECIDED TO STRIKE OUT ON THEIR OWN.  ONE ADVANTAGE OF THE NEW PROCESS WAS THAT IT REQUIRED RELATIVELY LITTLE CAPITAL IN COMPARISON WITH THE TYPICAL STEEL COMPANY, SO BROWN AND VALENCIA HAVE BEEN ABLE TO AVOID ISSUING NEW STOCK, AND THUS THEY OWN ALL OF THE SHARES.  HOWEVER, SSC HAS NOW REACHED THE STAGE WHERE OUTSIDE EQUITY CAPITAL IS NECESSARY IF THE FIRM IS TO ACHIEVE ITS GROWTH TARGETS YET STILL MAINTAIN ITS TARGET CAPITAL STRUCTURE OF 60 PERCENT EQUITY AND 40 PERCENT DEBT.  THEREFORE, BROWN AND VALENCIA HAVE DECIDED TO TAKE THE COMPANY PUBLIC.  UNTIL NOW, BROWN AND VALENCIA HAVE PAID THEMSELVES REASONABLE SALARIES BUT ROUTINELY REINVESTED ALL AFTER-TAX EARNINGS IN THE FIRM, SO DIVIDEND POLICY HAS NOT BEEN AN ISSUE.  HOWEVER, BEFORE TALKING WITH POTENTIAL OUTSIDE INVESTORS, THEY MUST DECIDE ON A DIVIDEND POLICY.


ASSUME THAT YOU WERE RECENTLY HIRED BY ARTHUR ADAMSON & COMPANY (AA), A NATIONAL CONSULTING FIRM, WHICH HAS BEEN ASKED TO HELP SSC PREPARE FOR ITS PUBLIC OFFERING.  MARTHA MILLON, THE SENIOR AA CONSULTANT IN YOUR GROUP, HAS ASKED YOU TO MAKE A PRESENTATION TO BROWN AND VALENCIA IN WHICH YOU REVIEW THE THEORY OF DIVIDEND POLICY AND DISCUSS THE FOLLOWING QUESTIONS.

A.
1.
WHAT IS MEANT BY THE TERM “DIVIDEND POLICY”?
ANSWER:
DIVIDEND POLICY IS DEFINED AS THE FIRM’S POLICY WITH REGARD TO PAYING OUT EARNINGS AS DIVIDENDS VERSUS RETAINING THEM FOR REINVESTMENT IN THE FIRM.  DIVIDEND POLICY REALLY INVOLVES TWO ISSUES:  (1) THE DOLLAR AMOUNT OF DIVIDENDS TO BE PAID OUT IN THE NEAR FUTURE, SAY THE NEXT YEAR, AND (2) THE LONG-RUN POLICY REGARDING THE AVERAGE PERCENTAGE OF EARNINGS TO BE PAID OUT TO STOCKHOLDERS. 

A.
2.
THE TERMS “IRRELEVANCE,” “BIRD-IN-THE-HAND,” AND “TAX PREFERENCE” HAVE BEEN USED TO DESCRIBE THREE MAJOR THEORIES REGARDING THE WAY DIVIDEND POLICY AFFECTS A FIRM’S VALUE.  EXPLAIN WHAT THESE TERMS MEAN, AND BRIEFLY DESCRIBE EACH THEORY.

ANSWER:
DIVIDEND IRRELEVANCE REFERS TO THE THEORY THAT INVESTORS ARE INDIFFERENT BETWEEN DIVIDENDS AND CAPITAL GAINS, MAKING DIVIDEND POLICY IRRELEVANT WITH REGARD TO ITS EFFECT ON THE VALUE OF THE FIRM.  “BIRD-IN-THE-HAND” REFERS TO THE THEORY THAT A DOLLAR OF DIVIDENDS IN THE HAND IS PREFERRED BY INVESTORS TO A DOLLAR RETAINED IN THE BUSINESS, IN WHICH CASE DIVIDEND POLICY WOULD AFFECT A FIRM’S VALUE.

THE DIVIDEND IRRELEVANCE THEORY WAS PROPOSED BY MM, BUT THEY HAD TO MAKE SOME VERY RESTRICTIVE ASSUMPTIONS TO “PROVE” IT (ZERO TAXES, NO FLOTATION OR TRANSACTIONS COSTS).  MM ARGUED THAT PAYING OUT A DOLLAR PER SHARE OF DIVIDENDS REDUCES THE GROWTH RATE IN EARNINGS AND DIVIDENDS, BECAUSE NEW STOCK WILL HAVE TO BE SOLD TO REPLACE THE CAPITAL PAID OUT AS DIVIDENDS.  UNDER THEIR ASSUMPTIONS, A DOLLAR OF DIVIDENDS WILL REDUCE THE STOCK PRICE BY EXACTLY $1.  THEREFORE, ACCORDING TO MM, STOCKHOLDERS SHOULD BE INDIFFERENT BETWEEN DIVIDENDS AND CAPITAL GAINS.

THE “BIRD-IN-THE-HAND” THEORY IS IDENTIFIED WITH MYRON GORDON AND JOHN LINTNER, WHO ARGUED THAT INVESTORS PERCEIVE A DOLLAR OF DIVIDENDS IN THE HAND TO BE LESS RISKY THAN A DOLLAR OF POTENTIAL FUTURE CAPITAL GAINS IN THE BUSH; HENCE, STOCKHOLDERS PREFER A DOLLAR OF ACTUAL DIVIDENDS TO A DOLLAR OF RETAINED EARNINGS.  IF THE BIRD-IN-THE-HAND THEORY IS TRUE, THEN INVESTORS WOULD REGARD A FIRM WITH A HIGH PAYOUT RATIO AS BEING LESS RISKY THAN ONE WITH A LOW PAYOUT RATIO, ALL OTHER THINGS EQUAL; HENCE, FIRMS WITH HIGH PAYOUT RATIOS WOULD HAVE HIGHER VALUES THAN THOSE WITH LOW PAYOUT RATIOS.

MM OPPOSED THE GORDON-LINTNER THEORY, ARGUING THAT A FIRM’S RISK IS DEPENDENT ONLY ON THE RISKINESS OF ITS CASH FLOWS FROM ASSETS AND ITS CAPITAL STRUCTURE, NOT BY HOW ITS EARNINGS ARE DISTRIBUTED TO INVESTORS.

THE TAX PREFERENCE THEORY RECOGNIZES THAT THERE ARE THREE TAX-RELATED REASONS FOR BELIEVING THAT INVESTORS MIGHT PREFER A LOW DIVIDEND PAYOUT TO A HIGH PAYOUT:  (1) CAPITAL GAINS ARE TAXED AT A RATE OF 20 PERCENT, WHEREAS DIVIDEND INCOME IS TAXED AT EFFECTIVE RATES WHICH GO UP TO ALMOST 40 PERCENT.  (2) TAXES ARE NOT PAID ON CAPITAL GAINS UNTIL THE STOCK IS SOLD.  (3) IF A STOCK IS HELD BY SOMEONE UNTIL HE OR SHE DIES, NO CAPITAL GAINS TAX IS DUE AT ALL--THE BENEFICIARIES WHO RECEIVE THE STOCK CAN USE THE STOCK’S VALUE ON THE DEATH DAY AS THEIR COST BASIS AND THUS ESCAPE THE CAPITAL GAINS TAX.

A.
3.
WHAT DO THE THREE THEORIES INDICATE REGARDING THE ACTIONS MANAGEMENT SHOULD TAKE WITH RESPECT TO DIVIDEND POLICY?

ANSWER:
IF THE DIVIDEND IRRELEVANCE THEORY IS CORRECT, THEN DIVIDEND POLICY IS OF NO CONSEQUENCE, AND THE FIRM MAY PURSUE ANY DIVIDEND POLICY.  IF THE BIRD-IN-THE-HAND THEORY IS CORRECT, THE FIRM SHOULD SET A HIGH PAYOUT IF IT IS TO MAXIMIZE ITS STOCK PRICE.  IF THE TAX PREFERENCE THEORY IS CORRECT, THE FIRM SHOULD SET A LOW PAYOUT IF IT IS TO MAXIMIZE ITS STOCK PRICE.  THEREFORE, THE THEORIES ARE IN TOTAL CONFLICT WITH ONE ANOTHER.

A.
4.
WHAT RESULTS HAVE EMPIRICAL STUDIES OF THE DIVIDEND THEORIES PRODUCED? HOW DOES ALL THIS AFFECT WHAT WE CAN TELL MANAGERS ABOUT DIVIDEND POLICY?

ANSWER:
UNFORTUNATELY, EMPIRICAL TESTS OF THE DIVIDEND THEORIES HAVE BEEN INCONCLUSIVE (BECAUSE FIRMS DON’T DIFFER JUST WITH RESPECT TO PAYOUT), SO WE CANNOT TELL MANAGERS WHETHER INVESTORS PREFER DIVIDENDS OR CAPITAL GAINS.  EVEN THOUGH WE CANNOT DETERMINE WHAT THE OPTIMAL DIVIDEND POLICY IS, MANAGERS CAN USE THE TYPES OF ANALYSES DISCUSSED IN THIS CHAPTER TO HELP DEVELOP A RATIONAL AND REASONABLE, IF NOT COMPLETELY OPTIMAL, DIVIDEND POLICY.

B.

DISCUSS (1) THE INFORMATION CONTENT, OR SIGNALING, HYPOTHESIS, (2) THE CLIENTELE EFFECT, AND (3) THEIR EFFECTS ON DIVIDEND POLICY.

ANSWER:
1.
IT HAS LONG BEEN RECOGNIZED THAT THE ANNOUNCEMENT OF A DIVIDEND INCREASE OFTEN RESULTS IN AN INCREASE IN THE STOCK PRICE, WHILE AN ANNOUNCEMENT OF A DIVIDEND CUT TYPICALLY CAUSES THE STOCK PRICE TO FALL.  ONE COULD ARGUE THAT THIS OBSERVATION SUPPORTS THE PREMISE THAT INVESTORS PREFER DIVIDENDS TO CAPITAL GAINS.  HOWEVER, MM ARGUED THAT DIVIDEND ANNOUNCEMENTS ARE SIGNALS THROUGH WHICH MANAGEMENT CONVEYS INFORMATION TO INVESTORS.  INFORMATION ASYMMETRIES EXIST--MANAGERS KNOW MORE ABOUT THEIR FIRMS’ PROSPECTS THAN DO INVESTORS.  FURTHER, MANAGERS TEND TO RAISE DIVIDENDS ONLY WHEN THEY BELIEVE THAT FUTURE EARNINGS CAN COMFORTABLY SUPPORT A HIGHER DIVIDEND LEVEL, AND THEY CUT DIVIDENDS ONLY AS A LAST RESORT. THEREFORE, (1) A LARGER-THAN-NORMAL DIVIDEND INCREASE “SIGNALS” THAT MANAGEMENT BELIEVES THE FUTURE IS BRIGHT, (2) A SMALLER-THAN-EXPECTED INCREASE, OR A DIVIDEND CUT, IS A NEGATIVE SIGNAL, AND (3) IF DIVIDENDS ARE INCREASED BY A “NORMAL” AMOUNT, THIS IS A NEUTRAL SIGNAL.



2.
DIFFERENT GROUPS, OR CLIENTELES, OF STOCKHOLDERS PREFER DIFFERENT DIVIDEND PAYOUT POLICIES.  FOR EXAMPLE, MANY RETIREES, PENSION FUNDS,  AND UNIVERSITY ENDOWMENT FUNDS ARE IN A LOW (OR ZERO) TAX BRACKET, AND THEY HAVE A NEED FOR CURRENT CASH INCOME.  THEREFORE, THIS GROUP OF STOCKHOLDERS MIGHT PREFER HIGH PAYOUT STOCKS.  THESE INVESTORS COULD, OF COURSE, SELL SOME OF THEIR STOCK, BUT THIS WOULD BE INCONVENIENT, TRANSACTIONS COSTS WOULD BE INCURRED, AND THE SALE MIGHT HAVE TO BE MADE IN A DOWN MARKET.  CONVERSELY, INVESTORS IN THEIR PEAK EARNINGS YEARS WHO ARE IN HIGH TAX BRACKETS AND WHO HAVE NO NEED FOR CURRENT CASH INCOME SHOULD PREFER LOW PAYOUT STOCKS.



3.
CLIENTELES DO EXIST, BUT THE REAL QUESTION IS WHETHER THERE ARE MORE MEMBERS OF ONE CLIENTELE THAN ANOTHER, WHICH WOULD AFFECT WHAT A CHANGE IN ITS DIVIDEND POLICY WOULD DO TO THE DEMAND FOR THE FIRM’S STOCK.  THERE ARE ALSO COSTS (TAXES AND BROKERAGE) TO STOCKHOLDERS WHO WOULD BE FORCED TO SWITCH FROM ONE STOCK TO ANOTHER IF A FIRM CHANGES ITS POLICY.  THEREFORE, WE CANNOT SAY WHETHER A POLICY CHANGE TO APPEAL TO ONE PARTICULAR CLIENTELE OR ANOTHER WOULD LOWER OR RAISE A FIRM’S COST OF EQUITY.  MM ARGUED THAT ONE CLIENTELE IS AS GOOD AS ANOTHER, SO IN THEIR VIEW THE EXISTENCE OF CLIENTELES DOES NOT IMPLY THAT ONE DIVIDEND POLICY IS BETTER THAN ANOTHER. STILL, NO ONE HAS OFFERED CONVINCING PROOF THAT FIRMS CAN DISREGARD CLIENTELE EFFECTS.  WE KNOW THAT STOCKHOLDER SHIFTS WILL OCCUR IF POLICY IS CHANGED, AND SINCE SUCH SHIFTS RESULT IN TRANSACTION COSTS AND CAPITAL GAINS TAXES, POLICY CHANGES SHOULD NOT BE TAKEN LIGHTLY. FURTHER, DIVIDEND POLICY SHOULD BE CHANGED SLOWLY, RATHER THAN ABRUPTLY, IN ORDER TO GIVE STOCKHOLDERS TIME TO ADJUST.

C.
1.
ASSUME THAT SSC HAS AN $800,000 CAPITAL BUDGET PLANNED FOR THE COMING YEAR.  YOU HAVE DETERMINED THAT ITS PRESENT CAPITAL STRUCTURE (60 PERCENT EQUITY AND 40 PERCENT DEBT) IS OPTIMAL, AND ITS NET INCOME IS FORECASTED AT $600,000.  USE THE RESIDUAL DIVIDEND MODEL APPROACH TO DETERMINE SSC’S TOTAL DOLLAR DIVIDEND AND PAYOUT RATIO.  IN THE PROCESS, EXPLAIN WHAT THE RESIDUAL DIVIDEND MODEL IS.  THEN, EXPLAIN WHAT WOULD HAPPEN IF NET INCOME WERE FORECASTED AT $400,000, OR AT $800,000.

ANSWER:
WE MAKE THE FOLLOWING POINTS:

A.
GIVEN THE OPTIMAL CAPITAL BUDGET AND THE TARGET CAPITAL STRUCTURE, WE MUST NOW DETERMINE THE AMOUNT OF EQUITY NEEDED TO FINANCE THE PROJECTS.  OF THE $800,000 REQUIRED FOR THE CAPITAL BUDGET, 0.6($800,000) = $480,000 MUST BE RAISED AS EQUITY AND 0.4($800,000) = $320,000 MUST BE RAISED AS DEBT IF WE ARE TO MAINTAIN THE OPTIMAL CAPITAL STRUCTURE:


DEBT     $320,000    40%


EQUITY    480,000    60%


         $800,000   100%
B.
IF A RESIDUAL EXISTS--THAT IS, IF NET INCOME EXCEEDS THE AMOUNT OF EQUITY THE COMPANY NEEDS--THEN IT SHOULD PAY THE RESIDUAL AMOUNT OUT IN DIVIDENDS.  SINCE $600,000 OF EARNINGS IS AVAILABLE, AND ONLY $480,000 IS NEEDED, THE RESIDUAL IS $600,000 - $480,000 = $120,000, SO THIS IS THE AMOUNT WHICH SHOULD BE PAID OUT AS DIVIDENDS.  THUS, THE PAYOUT RATIO WOULD BE $120,000/$600,000 = 0.20 = 20%.

C.
IF ONLY $400,000 OF EARNINGS WERE AVAILABLE, THE THEORETICAL BREAK POINT WOULD OCCUR AT BP = $400,000/0.6 = $666,667.  ASSUMING THE INTERSECTION OF THE IOS AND MCC WAS STILL AT $800,000, THE FIRM WOULD STILL NEED $480,000 OF EQUITY.  IT SHOULD THEN RETAIN ALL OF ITS EARNINGS AND ALSO SELL $80,000 OF NEW STOCK.  THE RESIDUAL POLICY WOULD CALL FOR A ZERO PAYMENT.

D.
IF $800,000 OF EARNINGS WAS AVAILABLE, THE DIVIDEND WOULD BE INCREASED TO $800,000 - $480,000 = $320,000, AND THE PAYOUT RATIO WOULD RISE TO $320,000/$800,000 = 40%.

C.
2.
IN GENERAL TERMS, HOW WOULD A CHANGE IN INVESTMENT OPPORTUNITIES AFFECT THE PAYOUT RATIO UNDER THE RESIDUAL PAYMENT POLICY?

ANSWER:
A CHANGE IN INVESTMENT OPPORTUNITIES WOULD LEAD TO AN INCREASE (IF INVESTMENT OPPORTUNITIES WERE GOOD) OR A DECREASE (IF INVESTMENT OPPORTUNITIES WERE NOT GOOD) IN THE AMOUNT OF EQUITY NEEDED, HENCE IN THE RESIDUAL DIVIDEND PAYOUT.

C.
3.
WHAT ARE THE ADVANTAGES AND DISADVANTAGES OF THE RESIDUAL POLICY? (HINT:  DON’T NEGLECT SIGNALING AND CLIENTELE EFFECTS.)

ANSWER:
THE PRIMARY ADVANTAGE OF THE RESIDUAL POLICY IS THAT UNDER IT THE FIRM MAKES MAXIMUM USE OF LOWER COST RETAINED EARNINGS, THUS MINIMIZING FLOTATION COSTS AND HENCE THE COST OF CAPITAL.  ALSO, WHATEVER NEGATIVE SIGNALS ARE ASSOCIATED WITH STOCK ISSUES WOULD BE AVOIDED.

HOWEVER, IF IT WERE APPLIED EXACTLY, THE RESIDUAL MODEL WOULD RESULT IN DIVIDEND PAYMENTS WHICH FLUCTUATED SIGNIFICANTLY FROM YEAR TO YEAR AS CAPITAL REQUIREMENTS AND INTERNAL CASH FLOWS FLUCTUATED.  THIS WOULD (1) SEND INVESTORS CONFLICTING SIGNALS OVER TIME REGARDING THE FIRM’S FUTURE PROSPECTS, AND (2) SINCE NO SPECIFIC CLIENTELE WOULD BE ATTRACTED TO THE FIRM, IT WOULD BE AN “ORPHAN.”  THESE SIGNALING AND CLIENTELE EFFECTS WOULD LEAD TO A HIGHER REQUIRED RETURN ON EQUITY WHICH WOULD MORE THAN OFFSET THE EFFECTS OF LOWER FLOTATION COSTS. BECAUSE OF THESE FACTORS, FEW IF ANY PUBLICLY OWNED FIRMS FOLLOW THE RESIDUAL MODEL ON A YEAR-TO-YEAR BASIS.

EVEN THOUGH THE RESIDUAL APPROACH IS NOT USED TO SET THE ANNUAL DIVIDEND, IT IS USED WHEN FIRMS ESTABLISH THEIR LONG-RUN DIVIDEND POLICY.  IF “NORMALIZED” COST OF CAPITAL AND INVESTMENT OPPORTUNITY CONDITIONS SUGGEST THAT IN A “NORMAL” YEAR THE COMPANY SHOULD PAY OUT ABOUT 60 PERCENT OF ITS EARNINGS, THIS FACT WILL BE NOTED AND USED TO HELP DETERMINE THE LONG-RUN POLICY.

D.

DESCRIBE THE SERIES OF STEPS THAT MOST FIRMS TAKE IN SETTING DIVIDEND POLICY IN PRACTICE.

ANSWER:
FIRMS ESTABLISH DIVIDEND POLICY WITHIN THE FRAMEWORK OF THEIR OVERALL FINANCIAL PLANS.  THE STEPS IN SETTING POLICY ARE LISTED BELOW:

1.
THE FIRM FORECASTS ITS ANNUAL CAPITAL BUDGETS AND ITS ANNUAL SALES, ALONG WITH ITS WORKING CAPITAL NEEDS, FOR A RELATIVELY LONG-TERM PLANNING HORIZON, OFTEN 5 YEARS.

2.
THE TARGET CAPITAL STRUCTURE, PRESUMABLY THE ONE WHICH MINIMIZES THE WACC WHILE RETAINING SUFFICIENT RESERVE BORROWING CAPACITY TO PROVIDE “FINANCING FLEXIBILITY,” WILL ALSO BE ESTABLISHED.

3.
WITH ITS CAPITAL STRUCTURE AND INVESTMENT REQUIREMENTS IN MIND, THE FIRM CAN ESTIMATE THE APPROXIMATE AMOUNT OF DEBT AND EQUITY FINANCING REQUIRED DURING EACH YEAR OVER THE PLANNING HORIZON.

4.
A LONG-TERM TARGET PAYOUT RATIO IS THEN DETERMINED, BASED ON THE RESIDUAL MODEL CONCEPT.  BECAUSE OF FLOTATION COSTS AND POTENTIAL NEGATIVE SIGNALING, THE FIRM WILL NOT WANT TO ISSUE COMMON STOCK UNLESS THIS IS ABSOLUTELY NECESSARY.  AT THE SAME TIME, DUE TO THE CLIENTELE EFFECT, THE FIRM WILL MOVE CAUTIOUSLY FROM ITS PAST DIVIDEND POLICY, IF A NEW POLICY APPEARS TO BE WARRANTED, AND IT WILL MOVE TOWARD ANY NEW POLICY GRADUALLY RATHER THAN IN ONE GIANT STEP.

5.
AN ACTUAL DOLLAR DIVIDEND, SAY $2 PER YEAR, WILL BE DECIDED UPON. THE SIZE OF THIS DIVIDEND WILL REFLECT (1) THE LONG-RUN TARGET PAYOUT RATIO AND (2) THE PROBABILITY THAT THE DIVIDEND, ONCE SET, WILL HAVE TO BE LOWERED, OR, WORSE YET, OMITTED.  IF THERE IS A GREAT DEAL OF UNCERTAINTY ABOUT CASH FLOWS AND CAPITAL NEEDS, THEN A RELATIVELY LOW INITIAL DOLLAR DIVIDEND WILL BE SET, FOR THIS WILL MINIMIZE THE PROBABILITY THAT THE FIRM WILL HAVE TO EITHER REDUCE THE DIVIDEND OR SELL NEW COMMON STOCK.  THE FIRM WILL RUN ITS CORPORATE PLANNING MODEL SO THAT MANAGEMENT CAN SEE WHAT IS LIKELY TO HAPPEN WITH DIFFERENT INITIAL DIVIDENDS AND PROJECTED GROWTH RATES UNDER DIFFERENT ECONOMIC SCENARIOS.

E.

WHAT ARE STOCK REPURCHASES?  DISCUSS THE ADVANTAGES AND DISADVANTAGES OF A FIRM’S REPURCHASING ITS OWN SHARES.

ANSWER:
A FIRM MAY DISTRIBUTE CASH TO STOCKHOLDERS BY REPURCHASING ITS OWN STOCK RATHER THAN PAYING OUT CASH DIVIDENDS.  STOCK REPURCHASES CAN BE USED (1) SOMEWHAT ROUTINELY AS AN ALTERNATIVE TO REGULAR DIVIDENDS, (2) TO DISPOSE OF EXCESS (NONRECURRING) CASH THAT CAME FROM ASSET SALES OR FROM TEMPORARILY HIGH EARNINGS, AND (3) IN CONNECTION WITH A CAPITAL STRUCTURE CHANGE IN WHICH DEBT IS SOLD AND THE PROCEEDS ARE USED TO BUY BACK AND RETIRE SHARES.

ADVANTAGES OF REPURCHASES:

1.
A REPURCHASE ANNOUNCEMENT MAY BE VIEWED AS A POSITIVE SIGNAL THAT MANAGEMENT BELIEVES THE SHARES ARE UNDERVALUED.

2.
STOCKHOLDERS HAVE A CHOICE--IF THEY WANT CASH, THEY CAN TENDER THEIR SHARES, RECEIVE THE CASH, AND PAY THE TAXES, OR THEY CAN KEEP THEIR SHARES AND AVOID TAXES.  ON THE OTHER HAND, ONE MUST ACCEPT A CASH DIVIDEND AND PAY TAXES ON IT.

3.
IF THE COMPANY RAISES THE DIVIDEND TO DISPOSE OF EXCESS CASH, THIS HIGHER DIVIDEND MUST BE MAINTAINED TO AVOID ADVERSE STOCK PRICE REACTIONS.  A STOCK REPURCHASE, ON THE OTHER HAND, DOES NOT OBLIGATE MANAGEMENT TO FUTURE REPURCHASES.

4.
REPURCHASED STOCK, CALLED TREASURY STOCK, CAN BE USED LATER IN MERGERS, WHEN EMPLOYEES EXERCISE STOCK OPTIONS, WHEN CONVERTIBLE BONDS ARE CONVERTED, AND WHEN WARRANTS ARE EXERCISED.  TREASURY STOCK CAN ALSO BE RESOLD IN THE OPEN MARKET IF THE FIRM NEEDS CASH. REPURCHASES CAN REMOVE A LARGE BLOCK OF STOCK THAT IS “OVERHANGING” THE MARKET AND KEEPING THE PRICE PER SHARE DOWN.

5.
REPURCHASES CAN BE VARIED FROM YEAR TO YEAR WITHOUT GIVING OFF ADVERSE SIGNALS, WHILE DIVIDENDS MAY NOT.

6.
REPURCHASES CAN BE USED TO PRODUCE LARGE-SCALE CHANGES IN CAPITAL STRUCTURE.

DISADVANTAGES OF REPURCHASES:

1.
A REPURCHASE COULD LOWER THE STOCK’S PRICE IF IT IS TAKEN AS A SIGNAL THAT THE FIRM HAS RELATIVELY FEW GOOD INVESTMENT OPPORTUNITIES.  ON THE OTHER HAND, THOUGH, A REPURCHASE CAN SIGNAL STOCKHOLDERS THAT MANAGERS ARE NOT ENGAGED IN “EMPIRE BUILDING,” WHERE THEY INVEST FUNDS IN LOW-RETURN PROJECTS.

2.
IF THE IRS ESTABLISHES THAT THE REPURCHASE WAS PRIMARILY TO AVOID TAXES ON DIVIDENDS, THEN PENALTIES COULD BE IMPOSED.  SUCH ACTIONS HAVE BEEN BROUGHT AGAINST CLOSELY HELD FIRMS, BUT TO OUR KNOWLEDGE CHARGES HAVE NEVER BEEN BROUGHT AGAINST PUBLICLY HELD FIRMS.

3.
SELLING SHAREHOLDERS MAY NOT BE FULLY INFORMED ABOUT THE REPURCHASE; HENCE THEY MAY MAKE AN UNINFORMED DECISION AND MAY LATER SUE THE COMPANY.  TO AVOID THIS, FIRMS GENERALLY ANNOUNCE REPURCHASE PROGRAMS IN ADVANCE.

4.
THE FIRM MAY BID THE STOCK PRICE UP AND END UP PAYING TOO HIGH A PRICE FOR THE SHARES.  IN THIS SITUATION, THE SELLING SHAREHOLDERS WOULD GAIN AT THE EXPENSE OF THE REMAINING SHAREHOLDERS.  THIS COULD OCCUR IF A TENDER OFFER WERE MADE AND THE PRICE WAS SET TOO HIGH, OR IF THE REPURCHASE WAS MADE IN THE OPEN MARKET AND BUYING PRESSURE DROVE THE PRICE ABOVE ITS EQUILIBRIUM LEVEL. 

F.

WHAT IS A DIVIDEND REINVESTMENT PLAN (DRIP), AND HOW DOES IT WORK?
ANSWER:
UNDER A DIVIDEND REINVESTMENT PLAN (DRIP), SHAREHOLDERS HAVE THE OPTION OF AUTOMATICALLY REINVESTING THEIR DIVIDENDS IN SHARES OF THE FIRM’S COMMON STOCK.  IN AN OPEN MARKET PURCHASE PLAN, A TRUSTEE POOLS ALL THE DIVIDENDS TO BE REINVESTED AND THEN BUYS SHARES ON THE OPEN MARKET. SHAREHOLDERS USE THE DRIP FOR THREE REASONS:  (1) BROKERAGE COSTS ARE REDUCED BY THE VOLUME PURCHASES, (2) THE DRIP IS A CONVENIENT WAY TO INVEST EXCESS FUNDS, AND (3) THE COMPANY GENERALLY PAYS ALL ADMINISTRATIVE COSTS ASSOCIATED WITH THE OPERATION.

IN A NEW STOCK PLAN, THE FIRM ISSUES NEW STOCK TO THE DRIP MEMBERS IN LIEU OF CASH DIVIDENDS.  NO FEES ARE CHARGED, AND MANY COMPANIES EVEN OFFER THE STOCK AT A 5 PERCENT DISCOUNT FROM THE MARKET PRICE ON THE DIVIDEND DATE ON THE GROUNDS THAT THE FIRM AVOIDS FLOTATION COSTS THAT WOULD OTHERWISE BE INCURRED.  ONLY FIRMS THAT NEED NEW EQUITY CAPITAL USE NEW STOCK PLANS, WHILE FIRMS WITH NO NEED FOR NEW STOCK USE AN OPEN MARKET PURCHASE PLAN.

G.

WHAT ARE STOCK DIVIDENDS AND STOCK SPLITS?  WHAT ARE THE ADVANTAGES AND DISADVANTAGES OF STOCK DIVIDENDS AND STOCK SPLITS?

ANSWER:
WHEN IT USES A STOCK DIVIDEND, A FIRM ISSUES NEW SHARES IN LIEU OF PAYING A CASH DIVIDEND.  FOR EXAMPLE, IN A 5 PERCENT STOCK DIVIDEND, THE HOLDER OF 100 SHARES WOULD RECEIVE AN ADDITIONAL 5 SHARES.  IN A STOCK SPLIT, THE NUMBER OF SHARES OUTSTANDING IS INCREASED (OR DECREASED IN A REVERSE SPLIT) IN AN ACTION UNRELATED TO A DIVIDEND PAYMENT.  FOR EXAMPLE, IN A 2-FOR-1 SPLIT, THE NUMBER OF SHARES OUTSTANDING IS DOUBLED.  A 100% STOCK DIVIDEND AND A 2-FOR-1 STOCK SPLIT WOULD PRODUCE THE SAME EFFECT, BUT THERE WOULD BE DIFFERENCES IN THE ACCOUNTING TREATMENTS OF THE TWO ACTIONS.

BOTH STOCK DIVIDENDS AND STOCK SPLITS INCREASE THE NUMBER OF SHARES OUTSTANDING AND, IN EFFECT, CUT THE PIE INTO MORE, BUT SMALLER, PIECES. IF THE DIVIDEND OR SPLIT DOES NOT OCCUR AT THE SAME TIME AS SOME OTHER EVENT WHICH WOULD ALTER PERCEPTIONS ABOUT FUTURE CASH FLOWS, SUCH AS AN ANNOUNCEMENT OF HIGHER EARNINGS, THEN ONE WOULD EXPECT THE PRICE OF THE STOCK TO ADJUST SUCH THAT EACH INVESTOR’S WEALTH REMAINS UNCHANGED.  FOR EXAMPLE, A 2-FOR-1 SPLIT OF A STOCK SELLING FOR $50 WOULD RESULT IN THE STOCK PRICE BEING CUT IN HALF, TO $25.

IT IS HARD TO COME UP WITH A CONVINCING RATIONALE FOR SMALL STOCK DIVIDENDS, LIKE 5 PERCENT OR 10 PERCENT.  NO ECONOMIC VALUE IS BEING CREATED OR DISTRIBUTED, YET STOCKHOLDERS HAVE TO BEAR THE ADMINISTRATIVE COSTS OF THE DISTRIBUTION.  FURTHER, IT IS INCONVENIENT TO OWN AN ODD NUMBER OF SHARES AS MAY RESULT AFTER A SMALL STOCK DIVIDEND.  THUS, MOST COMPANIES TODAY AVOID SMALL STOCK DIVIDENDS.

ON THE OTHER HAND, THERE IS A GOOD REASON FOR STOCK SPLITS OR LARGE STOCK DIVIDENDS.  SPECIFICALLY, THERE IS A WIDESPREAD BELIEF THAT AN OPTIMAL PRICE RANGE EXISTS FOR STOCKS.  THE ARGUMENT GOES AS FOLLOWS: IF A STOCK SELLS FOR ABOUT $20-$80, THEN IT CAN BE PURCHASED IN ROUND LOTS, HENCE AT REDUCED COMMISSIONS, BY MOST INVESTORS.  A HIGHER PRICE WOULD PUT ROUND LOTS OUT OF THE PRICE RANGE OF MANY SMALL INVESTORS, WHILE A STOCK PRICE LOWER THAN ABOUT $20 WOULD CONVEY THE IMAGE OF A STOCK THAT IS DOING POORLY.  THUS, MOST FIRMS TRY TO KEEP THEIR STOCK PRICES WITHIN THE $20 TO $80 RANGE.  IF THE COMPANY PROSPERS, IT WILL SPLIT ITS STOCK OCCASIONALLY TO HOLD THE PRICE DOWN.  (ALSO, COMPANIES THAT ARE DOING POORLY OCCASIONALLY USE REVERSE SPLITS TO RAISE THEIR PRICE.)  MANY COMPANIES DO OPERATE OUTSIDE THE $20 TO $80 RANGE, BUT MOST STAY WITHIN IT.

ANOTHER FACTOR THAT MAY INFLUENCE STOCK SPLITS AND DIVIDENDS IS THE BELIEF THAT THEY SIGNAL MANAGEMENT’S BELIEF THAT THE FUTURE IS BRIGHT. IF A FIRM’S MANAGEMENT WOULD BE INCLINED TO SPLIT THE STOCK OR PAY A STOCK DIVIDEND ONLY IF IT ANTICIPATED IMPROVEMENTS IN EARNINGS AND DIVIDENDS, THEN A SPLIT/DIVIDEND ACTION COULD PROVIDE A POSITIVE SIGNAL AND THUS BOOST THE STOCK PRICE.  HOWEVER, IF EARNINGS AND CASH DIVIDENDS DID NOT SUBSEQUENTLY RISE, THE PRICE OF THE STOCK WOULD FALL BACK TO ITS OLD LEVEL, OR EVEN LOWER, BECAUSE MANAGERS WOULD LOSE CREDIBILITY.

INTERESTINGLY, ONE OF THE MOST ASTUTE INVESTORS OF THE 20TH CENTURY, WARREN BUFFETT, CHAIRMAN OF BERKSHIRE-HATHAWAY, HAS NEVER SPLIT HIS FIRM’S STOCK.  BERKSHIRE CURRENTLY SELLS FOR OVER $34,000 PER SHARE, AND ITS PERFORMANCE OVER THE YEARS HAS BEEN ABSOLUTELY SPECTACULAR.  IT MAY BE THAT BERKSHIRE’S MARKET VALUE WOULD BE HIGHER IF IT HAD A 425:1 STOCK SPLIT, OR IT MAY BE THAT THE CONVENTIONAL WISDOM IS WRONG.
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